ANSWERS FOR QUIZ 1 : MED1402 CALCULUS FOR TEACHER |

TOPIC Limit and Continuity
QUIZ TIME Fri 19 Feb 2016, 3rd Week, Semester 2/2015
BY TEACHER Thanatyod Jampawai, Ph.D., Faculty of Education, Suan Sunandha Rajabhat University
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ANSWERS FOR QUIZ 2 : MED1402 CALCULUS FOR TEACHER |

TOPIC Derivative, Chain rule and Linear approximation
QUIZ TIME Fri 4 Mar 2016, 5th Week, Semester 2/2015
BY TEACHER Thanatyod Jampawai, Ph.D., Faculty of Education, Suan Sunandha Rajabhat University
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ANSWERS FOR QUIZ 3 : MED1402 CALCULUS FOR TEACHER |

TOPIC Extreme values and Curve
QUIZ TIME Fri 11 Mar 2016, 6th Week, Semester 2/2015
BY TEACHER Thanatyod Jampawai, Ph.D., Faculty of Education, Suan Sunandha Rajabhat University
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ANSWERS FOR QUIZ 4 : MED1402 CALCULUS FOR TEACHER |

TOPIC Relative rate and I'Hospital’s law
QUIZ TIME Fri 18 Mar 2016, 7th Week, Semester 2/2015
BY TEACHER

Thanatyod Jampawai, Ph.D., Faculty of Education, Suan Sunandha Rajabhat University
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ANSWERS FOR QUIZ 5 : MED1402 CALCULUS FOR TEACHER |

TOPIC Definite and Indefinite inetegral
QUIZ TIME Fri 1 Apr 2016, 9th Week, Semester 2/2015
BY TEACHER Thanatyod Jampawai, Ph.D., Faculty of Education, Suan Sunandha Rajabhat University
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ANSWERS FOR QUIZ 6 : MED1402 CALCULUS FOR TEACHER |

TOPIC Integration techniques
QUIZ TIME Fri 22 Apr 2016, 11th Week, Semester 2/2015
BY TEACHER Thanatyod Jampawai, Ph.D., Faculty of Education, Suan Sunandha Rajabhat University




